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CBT Practice test model answers

Cash Management (CMGT)

Practice assessment 2

Section 1
Task 1.1

[image: image2.png](a) From the options below, select the one that correctly identifies the working capital cycle.

Trade receivables; Trade payables; Cash; _Inventories.

Inventories; Trads payables; Trade receivables; Cash

Inventories; Trads recelvables; Cash; Trade payables.

Trade payables; Inventories; Cash; Trade receivables.





[image: image3.png](b) Complete the sentence below to identify the impact on the length of the current cash operating cycle if:

- the average inventory holding period increases by 7 days, and
-the number of days taken to pay trade payables decreases by 13 days.

fthe average inventory holding period increases by 7 days and the number of days taken to pay trade payables

decreases by 13 dae, he curent cash operatng ke of 45 dayswil 6

65 days.





Task 1.1, continued
[image: image4.png](c) The following statements relate to over-trading.

Identify whether each of the statements s true or false.

IIncreased use of overarat facilty

|surplus of working capital

[Rapidly increasing sales volume

[Increasing profit margins

|Decreased evels of inventory





Task 1.2

[image: image5.png](a) Identify whether the following statements are true or false.

Tru

[Profitis calculated as the excess of expenses over income.

[Profit difers to cash due to non-cash adjustments processedthrough the
[inancial statements.

[Pepreciation is an example of a non-cash adjustment.

|Actual cash payments made during an accounting period can be calculated
loy deducting accruals atthe beginning of the period from the expense on the income
|statement and then adding accruals atthe end of the accounting period.





Task 1.2, continued
[image: image6.png](b) Calculate the actual cash paid in respect of additions to property, plant and equipment for the period
1 January to 31 March.

The cash paid in respect of adtions to property, plant and equipment for the period 1 January to 31 March

was £ [33200

On 1 January the balance of rade receivables for a business was £149,620 andthe balance at
31 March was £136,280. The total sales for his three-month period, shown in the income statement, was
£482,140. Cash sales accounted for 5% of the sales in the income statement

(c) Calculate the total cash received in respect of credit sales for the period 1 January to 31 March.

The total cash received in respect of redit sales for the period 1 January to 31 March was £ [471373)

(d) Identity the most appropriate description for regular revenue receipts.

Receipts from the owners of the business

Receipts that are expected to occur requently

Receipts that relate to the disposal of non-current assets

Receipts that are not expected to occur frequently





Task 1.3
[image: image7.png](a) Complete the table below to identify the monthly sales trend.

sanuary 64,000
February 96000 84000
Marc 92000 88000
~ 76000 52000
ay 108000 96,000
June 104,000

The monthly sales trendis £ [ 000

(b) If each unit of product sells for £20, what is the sales volume trend in units?

The trend in terms of sales volumeis [200 units.





Task 1.3, continued

[image: image8.png](c) Complete the table to forecast sales for July, August and September. Use minus signs
to denote negative figures and round to whole £'s.

sty 104000 -16000| 88,000

[pugust 108000  12,000| 120,000

[September | 112000  4000| 116,000





[image: image9.png](d) Whatis the forecast material cost for the manufacture of 5,200 units of product assuming that
inflation increases the cost of the material by 2.5%?

£8528

£8.320

£34112





Task 1.4
[image: image10.png]Complete the receipts schedule below to identify the total sales values for each month, the split between
cash and credit sales and the timing of cash flows from credit sales.

banuary 30,000 4500| 25500 10,200 [Februany 15,300 [arch

IFebruary 35,000 5250 29750 11,900 [March 17,850 [mpril

lwarch 37,000 5550 31450 12,580 [mpri 18870 [May





Task 1.5
[image: image11.png]Complete an extract from the payments section of a cash budget for the organisation for the
three months ended September. Round to whole £'s.

lPurchase of matertals - Hay 3810
lPurchase of materials - June 1400|3200

lPurchase of matertals - Juy 15300| 35700
lPurchase of materias - August 14850
[Wages and salaries 10600 og7s| 9160
[oter production expenses aga0| ap0| 5250
|paministative expenses 3000 30| a6
[Total payments 66450 5745|820





Task 1.6
[image: image12.png][RECEIPTS
[cash sales 5,000 3750 4500
[credt sales 99,600 93,750 82,500
[Regional development grant 30,000 o o
[Total receipts 135,600 97,500 87,000
[PAYMENTS

[Purchases -51,000) -54,000) —48,000)
[wages -16.800) -16.800) ~16.800)
[other expenses 32.010) -17.956] “10.470)
[Capital cquipment 30,000 15,000 -15,000)
|overarat interest 90 42| 105
[Total payments 130,800 103,800 -99.375|
INet cash flow 4800 5,300 12,375|
|opening bank balance 9,000 4200 10500
[Closing bank balance 3200 10,500 22,875|





Section 2
Task 2.1
[image: image13.png](a) Complete the table below to show the revised sales values and the revised timing of sales receipts.

lorginal sales value 95000 105800 115200
[Revsed sales value 93120| 119520 127,680

|orginal timing ofreceipts 76800 103880 113280
[Revsed timing ofreceipts 211 72618| 109212





Task 2.1, continued
[image: image14.png]{b) Use the table to calculate the revised forecast amounts and timing of payments for purchases, for
‘periods 1 to 4, assuming that the discount is taken. Use minus signs to show cash outflows.

(©) Calculate the balance on the cash budget at the end of period 4 assuming that the company opens a bank

‘account for the division at the beginning of period 1 with a cash injection of £5,000. Use minus signs to
denote cash outflows.

|opening cash injection (Period 1) 5,000
[Total receipts from sales 203,946
[Total payments for purchases 188544

[Closing bank balance (Period 4) 20402





Task 2.2
[image: image15.png](a) Use the picKlists to identify a possible course of action from the options given to match the problems
‘encountered by an organisation. The action selected should ensure that cash inflows are maximised and
‘cash outflows are minimised without adversely affecting sales or production.

Problem encountered

|2 major supplier has introduced a 10% increase
lin prices.

[The overdraft of £30,000 is being used constantly  |Convert the overdrafifo a foan

[tnereby incurring high interest charges.

[There is a shortage of skiled Iabour for the next [increase overime working q
Imonth

|Competitors have reduced their selling prices. |Reduce selling price q
[customers are taking an average of 60 6aysto [improve creait control
lsettle their invoices. The terms of trade are 30 days.

[Change suppliers





Task 2.2, continued
[image: image16.png](b) Prepare a reconciliation of budgeted cash flow with actual cash flow for the quarter.

Select the appropriate description for each entry from the drop down lists. Clearly indicate whether
figures are to be added or deducted in the reconciliation by entering minus signs where appropriate.
Do NOT use brackets to denote negative figures in your answer.

Budgeted closing bank balance 8356

increase in wages and salaries ‘ 5425
Decrease in general expenses n 2050

Actual closing bank balance 12674






Task 2.2, continued
[image: image17.png]{c) Which actions have had the greatest impact on increasing the actual bank balance above the budgeted balance at
the end of the quarter?

Chasing customers to pay sooner and delaying payments to trade payables.

Decreasing cash sales and increasing cash purchases.

Delaying capital expenditure and gecreasing general expenses.

Decreasing payments for rade payables, cash payments and wages and salaries.





Task 2.3
[image: image18.png]Using the picklists, identify the main features associated with a bank overdraft of £1,200 and a bank
loan of £400,000 for a company that has a good trading history with the bank and has never previously
used an overdraft. The bank loan is to be used o purchase property.

Overdrattfor 1,200 Bankloan o £400,000
Repayaticondemang  [ves rercesatimit Bl =<  ceraut on repamenis g
st sutabie for Srotteminenng el ongeminanang ol

Securty required Notusualy [~ [~ |
Facity eterissued by the bank [ves B [~ |

T T





Task 2.4

[image: image19.png]Finish drafting an email to the financial director of the company completing the gap fills and selecting from the picklists.

Email

To:  [la@company.couk v Date:  Today
From: [aatstudent@company.couk g Subject:  Raising finance

‘The information supplied indicates that the company will have a maximum overdrawn balance of

= [13300 during the year.

Ifthe company selects the overdraft option the cost for the year will be £ 555 Atthe end of

Decermberth balance on th business bk accountilbo & [3075— [mrers. Kl

The annual cost of the shortterm bankloanis £ [976. andthe forecast balance on the.

[ - |
recommen nat e [sankovraran ] opton b seleced s s it ha e
costorthe company. il aso roide e slance onthe usiness b aczountat

the end of December.

business bank account atthe end of December will be £ [2.724





Task 2.5

[image: image20.png](a) For each type of investment, identify whether they can be traded on a market by selecting yes or no
‘and whether they are generally considered to be high risk or low risk investments.

Tradable ona

High

|Government securities

luotea shares ina.
loublic company

[Bank deposit account

(b) Which of the following is not a function of a treasury department?

To raise finance.

To invest surplus funds.

To ensure an organisation pays as lite tax as possible.

To forecast future cash flows.





[image: image21.png](c) Complete the following sentences by selecting from the picklists.

Inerest rates sualy 3] intmes intaton. Orgaisatons wil wentto

ine retum on an ivestments and hereor shoud seekio make mesiments
whienhave 2 e ofierest





Task 2.6

[image: image22.png](a) Complete the table below to identify whether the company will require a higher return (interest rate) for
their investment or be prepared to accept a lower return if the following changes occur:

[The amount available for a single investment
lincreases to £100,000.

[The maximum fixed term for any investment s to
lbe reducedto one year.

[The investmentis transferred from the low risk
[bank depositto a high fisk share portfolio





[image: image23.png](b) Complete the table below, by typing either yes or no into each cell, to show which of the policy requirements are
‘metby each of the options.

Then complete the sentence to recommend which of the options, if any, should be selected.

ption
1

[Wasimum investment £100,000 yes no
Incluges shares yes ves
|Achieves minimum interest rate no ves
|Converibleto cash within 0 days | yes no

The organisstion shouldseiect




